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Algebra 2 Name ID: 1
Midterm Review Day #2 ‘ Date Period
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Solve each equation with the quadratic formula.
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Solve each equation by factoring.
20) b* -42=bh 21) x> —9x=-3x-8§
, o b 4g 3k +3x +%
M R XT- bx +§ =0
(b-D(briy=o0 (x - 4)(x-2) =0
b-7=0  b¥b=0 X-U4=0 X-2=0

e e

-2




e 4

Solve each equation by completing the square.
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Divide, using long division or synthefic division. - - U
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State if the given binomial is a factor of the given polynomial, using long division or synthetic
‘ division to determine your answer.
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Simplify each expression.
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Name each polynomial by degree and number
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Expand completely, using the Binomial
Theorem.
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Perform the indicated operation.

31) g(x)=x+5
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Find (g - £)(x)
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Find the inverse of each function.
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State if the given functions are inverses. Use

composition.
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